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Question Number : 1 Question Id : 103435203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the wrong term in the series.

73,Y7,X12, V13
Options :

1. % Z3

2. % Y7

3. % X12

4. ¥ V13

Question Number : 1 Question Id : 103435203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS H TTeTd UG Dl UgdH De-
7Z3,Y7,X12,V13

Options :

1. % 73

2. % Y7

3. % X12

4. ¥ V13

Question Number : 2 Question Id : 103435204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Earth
2. % Moon
3. % Saturn

4. * Venus

Question Number : 2 Question Id : 103435204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T famed & 9 dF T (Y Rid & 90 § | 8TalD, Th [dded 31 11 &1 dve ol ¢ | 34 [dded &1 I8 B Sl 37 4 3T 5|
Options :

1. % gl

2.V g

3. % TMH

4. % b



Question Number : 3 Question Id : 103435205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Pen

2. ¥ Perfume
3. # Pencil
4. ® Marker

Question Number : 3 Question Id : 103435205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fiwedl A @ & e Rfd %  THH 81 gTdiTd, T faded 30 diF o1 oRE el ¢ | 39 fdshed o1 Iu= &Y oY 30 ¥ 3T 5|
Options :

1. # dH

Question Number : 4 Question Id : 103435206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Doctor : Medicine :: Gardener:?

Options :

1. # Wire
2. # QGrasses
3. % Water
4. ¥ Harrow



Question Number : 4 Question Id : 103435206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dohed &1 999 B S e U I I UDHR ¥ A& fUd ¢ o PR ¥ gkl UE Ugd U § Hafdd 5
fIfre s : GaTs - ATaH =2

Options :

1. % dR

2. % Yy

3. % gHI

4. B (&RN)

Question Number : 5 Question Id : 103435207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Plant : Botany :: Animal :?

Options :

1. # Veterinary
2. % Ethology
3. % Zoology
4. ® Zymology

Question Number : 5 Question Id : 103435207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B S AR UG ¥ 341 UHR ¥ Yefdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
QT ; gl faqm ;a2

Options :

1. ® uyy fafere fagm

2. % IR (YT

3. ¢ UIforfaR=

4. % fHUafdz (STSHICSI)




Question Number : 6 Question Id : 103435208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code if ANCIENT is written as NAICNET, then HUSBAND will be written as:
Options :

1. ¥ UHBSNAD

2. % HSUABDN

3. % SUHNABD

4. ¥ BUSHNDA

Question Number : 6 Question Id : 103435208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Af3d B T afg ANCIENT BT NAICNET & U H forar 711 g, df HUSBAND &1 ferar s
Options :

1. ¥ UHBSNAD

2. ¥ HSUABDN

3. ¥ SUHNABD

4. ¥ BUSHNDA

Question Number : 7 Question Id : 103435209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if DEER is coded as 8, LION is coded as 12.5 then what is the code for BEAR ?
Options :

1. # 36

2.9 6.5

3. % 18.5

4, % 45

Question Number : 7 Question Id : 103435209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d Hie U H, af¢ DEER &I 8 & U H HIfSd a1 T ], LION ®1 12.5 % ¥9 § ifed a1 T §, d BEAR &1 HIS 1 g2
Options :

1. # 36

2.9 6.5

3. % 18.5

4. % 45

Question Number : 8 Question Id : 103435210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is the father of B’s son. M is the sister of A’s father and Q is her daughter. Given that M has only one brother L. How is L related to B?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Daughter-in-law

2. Sister

3. Father’s Sister

4. Maternal uncle's Daughter-in-law

Question Number : 8 Question Id : 103435210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BT TFBIUAEI M, A % U & 989 & 3R Q, 3T A ¢ 1 I8 <8 U [ M FHT Had Th UK L 81 L, B I Hd afdd g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. 98



2. dgA
3. fUdT &t 984

4. TTHT B 98

Question Number : 9 Question Id : 103435211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tanya, Manya, Sanya, Ananya, Lavanya, Sharanya are sitting around a circle facing the centre under the following conditions:
1. Sharanya is sitting second to the left of Tanya, who lies at the immediate right of Manya.

2. Ananya is second to the right of the Lavanya.

Who is facing Sanya?

Options :

1. * Ananya
2. ¥ Manya
3. % Lavanya

4. * Sanya

Question Number : 9 Question Id : 103435211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T, =T, T, 3T, |91, TR-AT Fgferiad uRkfufadl & &g &t 3R T o 9 & dIR] 3R 96 &
1. IR T & T Y GR RIF W d01 §, S AT & o1 ald | R ]

2. 31 ATET & T4 ¥ Gk WA R B

1 & I g &1 7@ 72

Options :

1. % 3T

2. v AT

3. % Al

4. % g

Question Number : 10 Question Id : 103435212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.

Assertion- The Eiffel Tower is one of the largest structures made of steel.

Reason- Steel is an alloy of iron and carbon.

Options :

1. ® Assertion is true, reason is false

2. % Assertion is false, reason is true

3. % Both assertion and reason are true, reason is the correct explanation of the assertion

4. ¥ Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 103435212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fau U Uy 5, uep Sifiyepy fear w8, IS9P 918 Ueb HRUI faT1 1T B | 3TUD] I8 I8 BT & fob 1 Sy 9 8, RO I & 4T
3 I § 8iR afe HRu, 3ifiey &) I8 are B |

HfHHYT- Tfthd efaR W J §1 o8 gt WA A U B

HRUI- WA g 3R HIa- BT AT B |

Options :

1. % JfNHYT II §, PRI 3T §

2. % fHBYT T 8, PRV TI &

3. % YHYT 3R HRU GHI T §, PRUT HUT B Ta! TS &

4. ¢ 3B Y 3R BRI I G B, BRU YT BT Y&t SIRAT TSt &

Question Number : 11 Question Id : 103435213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, a statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given arguments is strong.

Statement- Indian doctors and engineers working abroad be called back to the country to avoid “Brain Drain”.
Argument I- Yes, they should work for the motherland as they obtained education which could have been funded by taxpayers.
Argument II- No, they have freedom to decide where they want to work after working so hard.

Options :



1. # Only argument I is strong
2. % Only argument II is strong
3. % Neither I nor II is strong

4. # Both argument I and II are strong

Question Number : 11 Question Id : 103435213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR feu T Uy H, v HuA fear ma 8, e a1 &Y db 1 3R 11 fRT TN § | 3T 39 HYUHl I I HFAT 7, Hd 81 I8 JrH=Ia: T 9
Y firt Ui 811 3maen! g ol @1 8 foh fau e adh & @ 19 W Aeied B |

HY- facn § HrRd YR Rifecd! SR sifRiarsti & vsH g 9 9 & forg <=1 Ay o o |

e 1- 81, I8 HIGUH & fore S & a1fe T Fifes Igin for Tt & Rref U o1 § 3 dxerarsdl gRT faaaifta g ged 3|
db 11- T81, I8 IE 99 B B Wd=AdT g [P 3 51 Hg-1d P P dIC Bl HTH B Ied |

Options :

1. % $Hgd dd [ Ao §

2. ¢ Had d 11 Holgd &

3. % TAT SRS 1A §

4. % G 1 3R 11 S Aoigd §

Question Number : 12 Question Id : 103435214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
12:180:: 15:7?

Options :
1. % 150
2. % 200
3.9 225
4. % 180

Question Number : 12 Question Id : 103435214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fasred &1 999 B S R Ue § I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
12:180::15:7

Options :
1. % 150
2. % 200
3.9 225
4. % 180

Question Number : 13 Question Id : 103435215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series,

39,78,156,
Options :
1.¥ 312
2. % 321
3. % 310
4. % 301

Question Number : 13 Question Id : 103435215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39,78,156,

Options :

1. 312

2. % 321

3. % 310

4. % 301



Question Number : 14 Question Id : 103435216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram correctly depicts the relationship between Students, Girls, IIT-JEE aspirants ?
Options :

2.¢



Question Number : 14 Question Id : 103435216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefaa & § o °1 99 3R B, Jsfdal, IT-JEE SWicar) & o9 & I &l Jg ave I c2fdr g2

Options :



Question Number : 15 Question Id : 103435217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shubha is walking south to her home. She turns 90 degrees clockwise and walks 500m. Then she turns 45 degrees to her left and continues to
walk. In which direction is she walking now?

Options :

1. # South-east
2. ¥ South-west
3. % North-east
4. % North-west

Question Number : 15 Question Id : 103435217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT G207 B SR TABR 30 TR ST a1 & | T8 90 TSI Sfaromad et 8 3R 500m e g1 fh a8 3/ a4 8k 45 feft gt 8 iR
T SR T § | 319 8 fo fo=n & 9 X8t /2

Options :



1. % glgorgd
2. ¥ Clauugy
3. % IW-Jd
4. % JR-UEH

Question Number : 16 Question Id : 103435218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks out of his home and moves 10 km straight in the North direction. He then turns left and moves 14 km. How far is he from his initial
position ?

Options :

1. ¥ 17.2 km
2. % 10 km
3. % 1.72 km
4. % 20 km

Question Number : 16 Question Id : 103435218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w%?mﬁwﬁwﬁwm%aﬁwwmﬁ%ﬁﬁ1o1<mGr|?|T%|ﬁ?{a's'amasm%eh?mmw%mg&mﬁmﬁwwﬁ
WY

Options :

1.¥ 17.2 km

2. % 10 km

3. % 1.72 km

4. % 20 km

Question Number : 17 Question Id : 103435219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure would complete the question figure?



Options :



Question Number : 17 Question Id : 103435219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U 3MpT B R B

Options :



Question Number : 18 Question Id : 103435220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



2.¥

Question Number : 18 Question Id : 103435220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl & @ & T AT a5 I UM &1 gTliies, T [Ahed 370 diF &1 aRE 81 & | 39 ey &1 T B3 off 370 T 3T g |

Options :

2.



Question Number : 19 Question Id : 103435221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following correctly represents the exact Mirror image of this question figure?

Options :

2.¥



Question Number : 19 Question Id : 103435221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &1 T 39 Uy i & Gl U0 Bid BT Jal Ui HRdl 82

Options :



2. ¢



Question Number : 20 Question Id : 103435222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Write the maximum number of triangles in the following figure.

Options :
1. * 14
2.9 16
3. % 17
4, % 12

Question Number : 20 Question Id : 103435222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad snefd & By @ siteman e ford|

Options :
1. = 14
2.¥ 16
3. % 17



4. % 12

General Awareness

Group Number : 2

Group Id : 10343512
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 10343512
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343514
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 103435223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which city from the following cities, are the caves of "Ajanta and Ellora" Located ?



Options :

1. # Jaipur

2. ¥ Aurangabad
3. % Bhopal

4. ¥ Thane

Question Number : 21 Question Id : 103435223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3R TART &1 1Y Faffed el & 3 fod wer d Rua 82
Options :

1. #* SgUR

2. ¢ JRATETG

3. % HIUTe

4. % QU

Question Number : 22 Question Id : 103435224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bharhut, known for its ancient sculptures is located in the state of
Options :

1. ¥ Madhya Pradesh

2. % Qdisha

3. # Rajasthan

4. % Uttar Pradesh

Question Number : 22 Question Id : 103435224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Rgd, 301 U Afal & e ST orare, | s A Ry gl

Options :



. ¢ G USY
2. % IffgEm
3. % IO

4, % IWUSY

Question Number : 23 Question Id : 103435225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Government of India Report 2011-12, what percent of Indian population live below the poverty line?
Options :

1. # 15%

2. % 25%

3. % 21%

4, ¥ 22%

Question Number : 23 Question Id : 103435225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR IRBR B R 2011-12 F STAR, HRA B1 fpa-T UfI=Id ST TRis 3@ & =1 siia a9 Rt 82
Options :

1. % 15%

2. % 25%

3. % 21%

4. % 22%

Question Number : 24 Question Id : 103435226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian Council of Medical Research (ICMR) recommends how many kilo calories consumption per-person per-day for rural India?
Options :

1. % 2300



2. % 2400
3. % 2200
4. % 2100

Question Number : 24 Question Id : 103435226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR I 3™ uikee Urior HRd & forg ufar safa ufa o fopamt foraht it wud &t Ryw ey srar 32
Options :

1. % 2300

2. % 2400

3. % 2200

4. % 2100

Question Number : 25 Question Id : 103435227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following scientist is not related to Physics?
Options :

1. % Albert Einstein

2. % Ernest Rutherford

3. # Isaac Newton

4. ¥ Charles Darwin

Question Number : 25 Question Id : 103435227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied # 9 319 91 ai-e Hifie 3 et Ta 52
Options :

1. % 3fcqC SSEH

2. % 3 IXBIS



3. % 3{TWh e
4.« I gIfda

Question Number : 26 Question Id : 103435228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The book Systema Naturae is written by:
Options :

1. # Charles Darwin

2. % Carl Linnaeus

3. % John Dalton

4. # Rachel Carson

Question Number : 26 Question Id : 103435228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 79X gas 9 & gR1 forel 718 :
Options :

1. % 91 S1fdA

2. ¥ HTd AT

3. % i glee

4. % T BT

Question Number : 27 Question Id : 103435229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following have highest average life span?
Options :

1. % Tiger

2. % Human Being

3. ¥ Tortoise



4. # Dog

Question Number : 27 Question Id : 103435229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & 3 fge sid shae 1 get 3ifiie 82
Options :

1. % dY

2. % A

3. ¥ g3l

4. % Pl

Question Number : 28 Question Id : 103435230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an important aspect of Human Development?
Options :

1. # Health

2. # Education

3. ® Food

4. % Luxurious life

Question Number : 28 Question Id : 103435230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafigd & § &9 91 14 O™ &1 Agayqul Ugd el 82
Options :

1. % WY

2. % fRyam

3. % YIS

4.« JUaYUf St




Question Number : 29 Question Id : 103435231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country amongst the following has the highest sex Ratio as per World Population Prospects 2019 released by World Bank?
Options :

1. ¥ Latvia

2. # Australia

3. % Namibia

4. % Germany

Question Number : 29 Question Id : 103435231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%y S GRT SR fay SRR GHTET 2019 & AR FEfRed d @ fy g1 &1 fefmgura ge oifis ]2

Options :
1. ¢ drafaan
2. ® 3ffecfer
3. % TrHifean
4. % SR

Question Number : 30 Question Id : 103435232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Governor General of India from 1773-1785?
Options :

1. # John Shore

2. % Warren Hastings

3. % Gilbert Minto

4. #* John Adam

Question Number : 30 Question Id : 103435232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1773-1785 A% YR & Ugd HERISIUTA HI 32
Options :

1. % SHTR

2. ¢ IRA g™

3. % fiesd il

4. % G TSH

Question Number : 31 Question Id : 103435233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Blue Rebellion held in Bengal in 1859 about?
Options :

1. ¥ Refusal Of Indigo Cultivation

2. % Water Crisis

3. # Fish Cultivation

4. ® Green Revolution

Question Number : 31 Question Id : 103435233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1859 & ST & gon - fagig fpa v aR A &2

Options :

1. ¢ Fa & Wt W PR (ERIerd 3 2 Hiecdzm)
2. ® I gaydr

3. % A Tl (e wfecdwm)

4. % gRAwifd

Question Number : 32 Question Id : 103435234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Initially, which among the following was the capital of Magadh Kingdom?
Options :

1. # Patliputra

2. % Ayodhya

3. ¥ Rajgir

4. % Dilli

Question Number : 32 Question Id : 103435234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URY H, Ffiad 7 9 o I 791y e B ety
Options :

1. % Urefaga

2. % 3

3. ¢ AOAIR

4. % facudl

Question Number : 33 Question Id : 103435235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which form of government, power is exercised by a group of men?
Options :

1. ¥ Oligarchy

2. % Kingship

3. ¥ Commandership

4, % Zamindari

Question Number : 33 Question Id : 103435235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR &1 INHR &, ToUI & g gRI fad T TANT [T STt 82




Options :

1. ¢ 3cddd

2. % A ((HTiRm)

3. % YAl (@HSIRM)
4. % JHiGRY

Question Number : 34 Question Id : 103435236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 11th July 2021, Prime Minister Narendra Modi asked people for nominations for which awards?
Options :

1. # The Arjuna Awards

2. % The Rajiv Gandhi Khel Ratna Awards

3. #® The Jnanpith Awards

4. ¥ The Padma Awards

Question Number : 34 Question Id : 103435236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 AT 2021 I, FUFHA 5 HIct 4 Al 9 ford [REBR & fore s 7
Options :

1. % 35 QIR

2. % Toilg i Vel Id GRDR

3. % JHEUIS REPR

4, ¢ U RIDR

Question Number : 35 Question Id : 103435237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nobel Peace Prize in 2020 was awarded to
Options :



1. # Amartya Sen

2. ¥ World Food Programme (WFP)
3. % Kailash Satyarthi

4. ¥ World Health Organization

Question Number : 35 Question Id : 103435237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 ¥ 7199 Wifd REBR Pl U™ fobar |
Options :

1. % U I

2. ¢ 3y @ HrRiEH (WEP)

3. % ey gt

4. % fqy Torey e

Question Number : 36 Question Id : 103435238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lal Bahadur Shashtri passed away (died) in which year?
Options :

1. % 1966

2. % 1967

3. % 1968

4. % 1969

Question Number : 36 Question Id : 103435238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT FRTGR XMl &1 (A () fop aef & garm um
Options :

1. ¥ 1966



2. % 1967
3. % 1968
4. % 1969

Question Number : 37 Question Id : 103435239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which Constitutional Amendment of India did Privy Purse get abolished?
Options :

1. # 25th Amendment

2. # 23rd Amendment

3. % 26th Amendment

4. # 21st Amendment

Question Number : 37 Question Id : 103435239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & fobg e Gy gR ASTHT D1 FHT R fegm T
Options :

1. % 2597 G=NYA

2. % 2391 YRME

3. ¢ 2641 GRNYH

4. % 2197 GRMYA

Question Number : 38 Question Id : 103435240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ryder cup is related to which sport?
Options :

1. % Kho-Kho

2. % Kabaddi



3. % Hockey
4. ¥ Golf

Question Number : 38 Question Id : 103435240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USSR HU 5T Td I FEla g2
Options :

1. % gl-gl

2. % Dyl

3. % Gt

4. ¥ T

Question Number : 39 Question Id : 103435241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Salt Lake Stadium located in Kolkata is also knownas
Options :

1. # National Stadium

2. ¥ Vivekananda Yuba Bharati Krirangan

3. * Bharat Bharti Stadium

4. % Shivaji Stadium

Question Number : 39 Question Id : 103435241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fapad YT dp Rfsga®l . F a9 I Hft S oarg|
Options :

1. % ¥ TfSaw

2. ¢ fadepTc gar HRdl BrsiTE

3. % YRd HRdI Kf&aH



4. % gl wfsan

Question Number : 40 Question Id : 103435242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many countries took part in the first Commonwealth Games?
Options :

1. * 18

2. %20

3.¢11

4. % 15

Question Number : 40 Question Id : 103435242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TS Gl 7 e 271 o4 R e

Options
1. * 18
2. % 20
3.¢¥ 11
4. % 15

Arithmetic Ability
Group Number : 3
Group Id : 10343513
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 10343513
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343515
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 103435243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 1.5x=0.08y then the value of (y-x) + (y+x) is
Options :

710
79

71

79

7.1

79



Question Number : 41 Question Id : 103435243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 1.5x=0.08y i (y-x) + (y+x) pT HIH %
Options :

710
79

71

79

7.1

79

Question Number : 42 Question Id : 103435244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train starts with certain number of passengers. At the first station, one-third of the passengers get down and 96 new passengers get into the



train at the next station. One half of passengers are now in train is 240. What was the number of passengers in the beginning?
Options :
1. % 475
2. % 572
3.¥ 576
4. % 498

Question Number : 42 Question Id : 103435244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YeTe! A e | il & iy el 8 | Ugd WM WR, Ush-faeTs arl SaRd & 3R 3RTd WM WR 96 U It Yame! H Tgd ] |
T XA & 318 T BT T 240 B | LB H AT 1 H& fvat o

Options :

1. ® 475

2. % 572

3. 576

4. % 498

Question Number : 43 Question Id : 103435245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the average of first 40 multiples of 87
Options :

1. * 150

2. % 162

3.¥ 164

4. = 158

Question Number : 43 Question Id : 103435245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 & YW 40 TSl T ST I B2



Options :
1. * 150
2. % 162
3.¥ 164
4. = 158

Question Number : 44 Question Id : 103435246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a chair was Rs 15,000/-. The shopkeeper was offering it for a discount of 25% but on further bargaining agreed to offer a
successive discount and finally sold the chair for Rs 10,125/- What was the second discount offered by him?

Options :
1. ®* 5%
2.9 10%
3. % 20%
4. % 25%

Question Number : 44 Question Id : 103435246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Hol B 3ifdrd T 15,000/- TTT UT| GHTGR I 25% B HE W ¢ 8T YT Al 3MH B Yl aTol UR HiHd T o & (o8 TgHd 8l T
3R 3id T il B 10,125/- $UT H o7 e, I §RT €Y ST Tt gani ge o A

Options :

1. ® 5%

2.¥ 10%

3. % 20%

4. % 25%

Question Number : 45 Question Id : 103435247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An engineering student has to secure 50% marks to pass. He gets 213 marks and fails by 37 marks. Find the maximum marks?



Options :
1. % 400
2. % 450
3. ¥ 500
4. % 480

Question Number : 45 Question Id : 103435247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IS B B 0 g B o1 50% 37 UTed FH=1 g | I 213 3 YT B1d & 3TN 37 3T F Sl g1 o1l 5| IfdHad i
BIRERY

Options :

1. % 400

2. % 450

3.9 500

4. % 480

Question Number : 46 Question Id : 103435248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of the commodity be raised by 30%. Find by how much percent must a house holder reduce his consumption of that commodity so as
not to increase his expenditure.

Options :

1
23 —%
e 13"



275 %
4. %

Question Number : 46 Question Id : 103435248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g?aﬁ%ﬂgqﬁm% 61 4l S| AT X fob Toh el ol 39 % Bt Tud H fba- Ufa=rd ot St Bt A1fT difcs IUDhT 0 A
|

Options :

1
23 %
Le 13

1
25-94%
2. ® :

Question Number : 47 Question Id : 103435249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling 25 books, the seller earns profit equal to the cost price of 5 books. His profit percent is
Options :

1. ® 10%



2.9 20%
3. % 25%
4. % 15%

Question Number : 47 Question Id : 103435249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 QI B dAHR, faohdl B 5 Tddh! & AN Hed & aRT6R M ST HRT 8 | ITHT a1y ufa=rd gl
Options :

1. * 10%

2.9 20%

3. % 25%

4. % 15%

Question Number : 48 Question Id : 103435250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram buys some paper wind fans at 5 per rupee. He then buys same number of paper wind fans from another shop at 6 per rupee. He puts them all
together and sells them at 5 per rupee. Will he make a profit or incur a loss? How much?

Options :

1
— %% loss
911

gi% profit
) 11

1
—0 loss
119 0



1
11 =% profit
4. % 9

Question Number : 48 Question Id : 103435250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W 5 Ui SUAT & BUTE W F& BTN & gal b URa WIgdl g | fhr 98 Ia-1 & = & BT & 841 & URd gl g ¥ 6 Ufd SuaT o
feuTe § Wicar g1 98 39 9 &1 Uss 1Y TG g 3R I8 5 Ufd Sua1 IR o=l § | 1 I a1H g1 a1 g1fa gt faraAm

Options :

gi%aﬁ
11

gi%f‘ﬂﬂ-[
v 11

1
11§%E¥rﬁ

Question Number : 49 Question Id : 103435251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio between two numbers is 3:2. If sum of these numbers is 60, then the product of the numbers is
Options :




1. # 769
2. % 796
3. ¥ 864
4. = 846

Question Number : 49 Question Id : 103435251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 RT3l BT SUT 3:2 B 1 Al 37 Temait &1 AT 60 &, o Gl BT TUMh gl
Options :

1. * 769

2. % 796

3.9 864

4. % 846

Question Number : 50 Question Id : 103435252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (a+b):(b+c): (ct+a)=4:8:5 and a+b+c=17. Then the value of b is
Options :

1. * 10

2.9 7

3. % 8

4. % 11

Question Number : 50 Question Id : 103435252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfq (atb):(b+tc): (cta)=4:8:5 3R a+b+c=171 @ b BT HM %I
Options :

1. * 10

2.9 7



3.% 8
4, % 11

Question Number : 51 Question Id : 103435253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum amount to Rs.2600 in 2 years and Rs.2750 in 5 years. Find the rate percentage per annum?
Options :

1. % 5%

2. % 2.5%

3. ¥ 2%

4, % 10%

Question Number : 51 Question Id : 103435253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T3 R 2 af F 2600 FUT 3R 5 I B 2750 TUY & RIS 81 STt & | AP & Uf=ra J1d 2
Options :

1. % 5%

2. % 2.5%

3.9 2%

4. % 10%

Question Number : 52 Question Id : 103435254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest on Rs.50,000 for 3 years if the rates for 3 years are 5%,8%, and 10% respectively.
Options :

1. % Rs 11,780

2. % Rs 15,360

3. % Rs 13,270



4. % Rs 12,370

Question Number : 52 Question Id : 103435254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 99 & foTT 50,000 TUU TR Thfg TS I1d B, AfS 3 TN P AU & HARE: 5%,8%, 3R 10% B
Options :

1. # 11,780 24U

2. % 15,360 ¥UU

3. % 13,270 U

4.4 12,370 30U

Question Number : 53 Question Id : 103435255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Without stoppage, the speed of train is 48 km/hr and with stoppage it is 42 km/hr. For how many minutes, does the train stop per hour?
Options :

1. # 12 min

2. % 15 min

3. % 7.5 min

4. % 9.5 min

Question Number : 53 Question Id : 103435255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f§1 o &, Yt @1 71fdY 48 kmy/hr & 3R fORTH & T1U T8 42 kn/hr B 1 YIS, Ufd € fordq fire & forw Sapddt 82
Options :

1. % 12 f8Fe

2. % 15 e

3.¢ 75 fe

4. % 95fiC



Question Number : 54 Question Id : 103435256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgd & forg TRTid=ITery 3T TR 1 g3 100 km B | TP (&1 98 HRIATerd S & fo1T 101 9999 9 1 92T 3 ¥ oT| 9o S 3ol 71
5 km/h T F¢T &1 3R 3 YR I8 AT THI TR HEAeTad Ugd 1| fed &1 [T i o1 82

Options :

1. % 10 km/h

2. % 15km/h

3.+ 20 km/h

4. % 25km/h

Question Number : 54 Question Id : 103435256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distance of the college and home to Rohit is 100 km. One day he was late by 1 hour than the normal time to leave for the college. So he
increased his speed by 5 km/h and thus he reached to college at the normal time. What is the normal speed of Rohit?

Options :

1. ®* 10 km/h
2. % 15 km/h
3. % 20 km/h
4. % 25 km/h

Question Number : 55 Question Id : 103435257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a job in 10 days and B can do it in 15 days. In how many days they together can do the job?
Options :

1. ® 6.5

2. % 55

3.% 7.5

4. ¥ 6



Question Number : 55 Question Id : 103435257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B B 10 f& 7 B2 Y1 3 3R B I 15 el H 5 Thll 1 3 b 1Y fob &A1 H I 1 &1 X Fobdl 62
Options :

1. ® 6.5

2. %55

3.% 75

4. ¥ 6

Question Number : 56 Question Id : 103435258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 4 men or 6 women can do a piece of work in 12 days, how long will 8 men and 12 women take to finish the work?
Options :

1. ¥ 3 days

2. % 5 days

3. % 6 days

4. % 9 days

Question Number : 56 Question Id : 103435258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 4 T5N T ¢ Afgad forddt o1 bl 12 foi T % Tavd &, Y 8 T2 81 12 ARAT 39 &1 &) ORT v | a1 99 e
Options :

1.¢ 3feq

2. % 5feq

3. % gfaq

4. % ofcq




Question Number : 57 Question Id : 103435259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder of radius 6 cm and height 16 cm is melted and recasted into a sphere of radius 2 cm. How many such spheres are got?
Options :

1. % 45

2.9¥ 54

3. % 36

4. % 64

Question Number : 57 Question Id : 103435259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 cm AT 3R 16 cm TS 1A U S0 B! UG 2 om BodT & el & gTar T 81 T o= el o9 82
Options :

1. % 45

2.9¥ 54

3. % 36

4. % 64

Question Number : 58 Question Id : 103435260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the total number of students who passed in the board exam in five different years and the percentage of boys who passed their
exams.



By what percent the number of boys student pass in 2016 is less than the number of girls passed in 2014? (approximately)

Total students | Number of boys
Year who passed the | who passed the
exam exam
2014 1400 35%
2015 1860 60%
2016 2550 20%
2017 2336 12.50%
2018 1225 14.28%
Options :
1. ® 79%
2. % 71%
3. % 50%
4. ¥ 44%

Question Number : 58 Question Id : 103435260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
drferent gt fafta auf § avs odten § S0l SE &1 Hof S-AT 3R T8 30l 634 a1 dgd! & Ufa=id & gt ol
2016 H ITUT B AT ASP| bl T-AT, 2014 H Il Tsfodl ot Tam I forda Ufawrd & 82 (TRTH)
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2014 1400 35%
2015 1860 60%
2016 2550 20%
2017 2330 12.50%
2018 1225 14.28%

Options :

1. % 79%

2. % 71%

3. % 50%

4. v 449,

Question Number : 59 Question Id : 103435261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows total number of questions attempted in economics and accountancy by five students during board exams.
Total number of questions in each subject is 200.



What is the average number of questions attempted in economics by A, B & C?

B Economics ® Accountancy

Number of questions attempted

A B C D E
Students
Options :
1. ¥ 125
2. % 135
3. % 115
4. % 120

Question Number : 59 Question Id : 103435261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 125
2. % 135
3. % 115
4. % 120

Question Number : 60 Question Id : 103435262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the number of Male and Female customers who visited a restaurant for 6 days of a week. What is the absolute
difference between the average number of Males and Females visiting the restaurant.



¥ Male ™ Female
160 -

135

120 -

100 +

Number of Customers

e 8 8 8 8

Monday Tuesday Wednesday Thursday Friday Saturday

Days of a week

Options :
1. % 585
2. %324
3. % 756
4. v 416

Question Number : 60 Question Id : 103435262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied TR U1 39 730 3R Al ! &1 H-T B G=TdT §, S T8 & 6 faml & forg Teavt & 9ird § 1 et & 341 aral Goul 3R
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Options :
1. % 585
2. %324
3. % 756
4.9 416

General English
Group Number : 4
Group Id : 10343514
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English

Section Id : 10343514
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343516
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 103435263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The cobra is/ one of the world's/ deadliest snake.
Options :

1. # The cobra is

2. # one of the world's

3. ¥ deadliest snake.

4. % No Error

Question Number : 61 Question Id : 103435263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The cobra is/ one of the world's/ deadliest snake.
Options :



1. # The cobra is

2. % one of the world's
3. ¥ deadliest snake.
4. % No Error

Question Number : 62 Question Id : 103435264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

We do not only meet to share/ each other's burdens but also to/ partake in each other's joys.
Options :

1. ¥ We do not only meet to share

2. # each other's burdens but also to

3. % partake in each other's joys.

4. ¥ No Error

Question Number : 62 Question Id : 103435264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

We do not only meet to share/ each other's burdens but also to/ partake in each other's joys.
Options :

1. ¥ We do not only meet to share

2. # each other's burdens but also to

3. % partake in each other's joys.

4. % No Error

Question Number : 63 Question Id : 103435265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When Mrs Cornor opened the (door, I asked that, “Have you seen Sarah.”)
Options :

1. ¥ door, I asked, “Have you seen Sarah?”

2. % door, I asked that, “Have you seen Sarah?”

3. % door, I asked, “Have you seen Sarah.”

4. # No correction required

Question Number : 63 Question Id : 103435265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When Mrs Cornor opened the (door, I asked that, “Have you seen Sarah.”)
Options :

1. ¥ door, I asked, “Have you seen Sarah?”

2. # door, I asked that, “Have you seen Sarah?”

3. %® door, I asked, “Have you seen Sarah.”

4. # No correction required

Question Number : 64 Question Id : 103435266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

You asked (me if they lived here.)
Options :
1. #* me whether they lived here?

2. # me if they live here?



3. % me if had they lived here?

4. ¥ No correction required

Question Number : 64 Question Id : 103435266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

You asked (me if they lived here.)
Options :

1. #* me whether they lived here?
2. % me if they live here?

3. # me if had they lived here?

4. ¥ No correction required

Question Number : 65 Question Id : 103435267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Generally speaking, the Philips Curve tells the between inflation and unemployment.

Options :

1. # vulgarity
2. ¥ linearity
3. # solidarity
4. ® integrity

Question Number : 65 Question Id : 103435267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



Generally speaking, the Philips Curve tells the between inflation and unemployment.

Options :

1. #® vulgarity
2. ¥ linearity
3. % solidarity
4. ® integrity

Question Number : 66 Question Id : 103435268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Thou is an form of you.
Options :

1. ¥ archaic

2. # mosaic

3. % photovoltaic

4. % yoltaic

Question Number : 66 Question Id : 103435268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Thou is an form of you.
Options :

1. ¥ archaic

2. # mosaic

3. % photovoltaic

4. % yoltaic

Question Number : 67 Question Id : 103435269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Removal of this

P. from further calculations
Q. to the inferences

R. aberrant chromosome

S. makes no change

drawn.
Options :
1. ¥ RPSQ
2. % RQSP
3. % RQPS
4. ¥ RSPQ

Question Number : 67 Question Id : 103435269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Removal of this

P. from further calculations
Q. to the inferences

R. aberrant chromosome

S. makes no change

drawn.



Options :

1. ¥ RPSQ
2. % RQSP
3. % RQPS
4. % RSPQ

Question Number : 68 Question Id : 103435270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Rapper, actor and music producer Eminem is one of the best-selling musicians of the 21st century and one of the most influential rappers of all
time.

P. Born Marshall Bruce Mathers III in 1972 in Missouri, Eminem had a turbulent childhood.

Q. He dropped out of school in the ninth grade and worked odd jobs until finally making it as a rapper upon the release of The Slim Shady LP in
early 1999.

R. The album went multi-platinum, garnering Eminem two Grammy Awards and four MTV Video Music Awards.

S. In 2000, Eminem released his next and best selling album of all-time; The Marshall Mathers LP; it was noted as the fastest-selling album in
rap history.

Two years later, he delivered the Academy Award-winning song "Lose Yourself," from the semi-autobiographical drama 8 Mile.
Options :

1. % SRQP

2. ¥ PQRS

3. ¥ RQPS

4. % SPQR

Question Number : 68 Question Id : 103435270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Rapper, actor and music producer Eminem is one of the best-selling musicians of the 21st century and one of the most influential rappers of all
time.

P. Born Marshall Bruce Mathers III in 1972 in Missouri, Eminem had a turbulent childhood.

Q. He dropped out of school in the ninth grade and worked odd jobs until finally making it as a rapper upon the release of The Slim Shady LP in
early 1999.

R. The album went multi-platinum, garnering Eminem two Grammy Awards and four MTV Video Music Awards.

S. In 2000, Eminem released his next and best selling album of all-time; The Marshall Mathers LP; it was noted as the fastest-selling album in
rap history.

Two years later, he delivered the Academy Award-winning song "Lose Yourself," from the semi-autobiographical drama 8 Mile.
Options :

1. # SRQP

2. ¥ PQRS

3. % RQPS

4. % SPQR

Question Number : 69 Question Id : 103435271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

dissonance
Options :

1. ¥ agreement
2. # ebullient
3. % hackneyed

4, % effusive

Question Number : 69 Question Id : 103435271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

dissonance
Options :

1. ¥ agreement
2. # ebullient
3. # hackneyed

4. % effusive

Question Number : 70 Question Id : 103435272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

veracity
Options :

1. # deceit
2. ¥ credible
3. % unfair
4. # theory

Question Number : 70 Question Id : 103435272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

veracity
Options :

1. # deceit
2. ¥ credible

3. * unfair



4. # theory

Question Number : 71 Question Id : 103435273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ dissemble

2. # dissamble

3. % disamble

4. # disemble

Question Number : 71 Question Id : 103435273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ dissemble

2. % dissamble

3. # disamble

4. # disemble

Question Number : 72 Question Id : 103435274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. * honorary

2. ¥ intermedairy

3. % alleviate

4. % exculpate



Question Number : 72 Question Id : 103435274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # honorary

2. ¥ intermedairy

3. % alleviate

4. ® exculpate

Question Number : 73 Question Id : 103435275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A house divided against itself cannot stand

Options :

1. #® A hopeless case, a person or situation having no hope of positive change.
2. ¥ Everyone involved must unify and function together or it will not work out.
3. # It’s easy for a foolish person to lose his/ her money

4. ® Being upset for something that happened in the past

Question Number : 73 Question Id : 103435275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A house divided against itself cannot stand

Options :

1. # A hopeless case, a person or situation having no hope of positive change.
2. ¥ Everyone involved must unify and function together or it will not work out.
3. % It’s easy for a foolish person to lose his/ her money

4. ® Being upset for something that happened in the past



Question Number : 74 Question Id : 103435276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A taste of your own medicine

Options :

1. ¥ When you are mistreated the same way you mistreat others
2. % Contrary the principles of fairness

3. # Speaking with enthusiasm

4. ® You frequently see the same people in different places

Question Number : 74 Question Id : 103435276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A taste of your own medicine

Options :

1. ¥ When you are mistreated the same way you mistreat others
2. # Contrary the principles of fairness

3. # Speaking with enthusiasm

4. % You frequently see the same people in different places

Question Number : 75 Question Id : 103435277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Urging or requesting (someone) solemnly or earnestly to do
something

Options :
1. ¥ Adjure



2. % Aeon
3. % Aisle
4. #= Agony

Question Number : 75 Question Id : 103435277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Urging or requesting (someone) solemnly or earnestly to do
something

Options :

1. ¥ Adjure

2. % Aeon

3. % Aisle

4. % Agony

Sub-Section Number : 2
Sub-Section Id : 10343517
Question Shuffling Allowed : Yes

Question Id : 103435278 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Stonehenge is an ancient monument situated about ten miles north of Salisbury in England. It was built about 4500 years ago, but by whom and
for what purpose remains a mystery. The builders must have known of geometry. They may have been influenced by the Mycenaeans, whose
architecture was similar. Some of the stones must have been brought from West Wales, over 135 miles away. These stones weigh more than fifty
tons. They may have been brought on rafts and rollers. Experts say that it must have taken 1500 men more than five years to transport them.
Stonehenge was probably built in three stages. First, settlers from continental Europe built a temple for sun worship. Later the "Beaker" people
added the stone circles. Finally, people of the Wesse Culture transformed Stonehenge into an observatory. They could calculate the exact time of
Midsummer and Midwinter and of equinoxes.

Sub questions



Question Number : 76 Question Id : 103435279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to experts, what distance were the Stonehenge transported and from where?
Options :

1. % From England over a distance of 135 miles

2. ¥ From West Whales over a distance of 135 miles

3. ® From Scotland about a distance of 135 miles

4. % From Ireland over a distance of 135 miles

Question Number : 77 Question Id : 103435280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that Stonehenge architecture had been influenced by the
Options :

1. ¥ Mycenaeans

2. % Minoans

3. % Dorians

4. % Hittites

Question Number : 78 Question Id : 103435281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country is the Stonehenge situated?
Options :

1. # Northern Ireland

2. # Scotland

3. ¥ England

4. ®% West Whales

Question Number : 79 Question Id : 103435282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In how many stages were the Stonehenge built?
Options :
1. % four
2. ¥ three
3. ® two
4. % five

Question Number : 80 Question Id : 103435283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. % In the first stage of building the Stonehenge the Wesse Culture transformed the Stonehenge into an observatory.
2. # In the second stage of building the Stonehenge the Beaker people added the stone circles.

3. # The Stonehenge weigh more than 50 tonnes.

4. ¥ The Stonehenge were built around 4500 years ago but their purpose to date remains unknown.

Question Id : 103435278 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Stonehenge is an ancient monument situated about ten miles north of Salisbury in England. It was built about 4500 years ago, but by whom and
for what purpose remains a mystery. The builders must have known of geometry. They may have been influenced by the Mycenaeans, whose
architecture was similar. Some of the stones must have been brought from West Wales, over 135 miles away. These stones weigh more than fifty
tons. They may have been brought on rafts and rollers. Experts say that it must have taken 1500 men more than five years to transport them.
Stonehenge was probably built in three stages. First, settlers from continental Europe built a temple for sun worship. Later the "Beaker" people
added the stone circles. Finally, people of the Wesse Culture transformed Stonehenge into an observatory. They could calculate the exact time of
Midsummer and Midwinter and of equinoxes.

Sub questions

Question Number : 76 Question Id : 103435279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to experts, what distance were the Stonehenge transported and from where?
Options :

1. #* From England over a distance of 135 miles

2. % From West Whales over a distance of 135 miles

3. * From Scotland about a distance of 135 miles

4. % From Ireland over a distance of 135 miles

Question Number : 77 Question Id : 103435280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is stated in the passage that Stonehenge architecture had been influenced by the
Options :

1. ¥ Mycenaeans

2. % Minoans

3. * Dorians

4. % Hittites

Question Number : 78 Question Id : 103435281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country is the Stonehenge situated?
Options :

1. # Northern Ireland

2. # Scotland

3. ¥ England

4. ¥ West Whales

Question Number : 79 Question Id : 103435282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many stages were the Stonehenge built?
Options :

1. # four



2. ¥ three
3. % two
4. % five

Question Number : 80 Question Id : 103435283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¢ In the first stage of building the Stonehenge the Wesse Culture transformed the Stonehenge into an observatory.
2. % In the second stage of building the Stonehenge the Beaker people added the stone circles.

3. #® The Stonehenge weigh more than 50 tonnes.

4. ® The Stonehenge were built around 4500 years ago but their purpose to date remains unknown.
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Question Number : 81 Question Id : 103435284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy & IR el 7 9 39 fab ey &1 9g7 o3 o feu e IfY - fawse Wee & gl A w1 fdweu §
A +3q

Options :

1. % 3ffced
2. % 3(qRM
3. % 3{dYRH
4. HGH

Question Number : 81 Question Id : 103435284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed gy o IR fawed! # 9 39 fdaed &1 997 &< ot faw U O - fawde e & be! 9 &1 fadbed §

3f +39
Options :
1. % 3ffasy
2. % M
3. % 3{dYYH
4.




Question Number : 82 Question Id : 103435285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad vy & R fawed & @ 39 fadwen &1 9g9 o S fae=h 2reg &1 98t fadweu g |
Options :

1. % Rl

2. % gRA

3. ¢ Il

4. ® QIS

Question Number : 82 Question Id : 103435285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR ol 7 @ 39 fashey &1 9a 3 off fae =R 2req &1 U8l fdweu 3 |
Options :

1. % R

2. % g

3. ¢ Tl

4. % TS

Question Number : 83 Question Id : 103435286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowdl 7 @ 39 fadwed &1 9g &3 ot 3T 17U IfY wreg & gt I fawdse 2reg &1 fdweu g

TAEBR
Options :

1. ¢ dY + AER
2. ¥ Y +3BR
3. % Y +8R
4. % Y + 3gR




Question Number : 83 Question Id : 103435286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 @ 39 fad ey &1 9g7 o3 o feu e TfY Weg & I8l IfY fawe s BT fdpeu 8

AEBR
Options :

1. ¥ Y + AGR
2. ®# A +8R
3. ¥ dY+8R
4, % Y+ 3gR

Question Number : 84 Question Id : 103435287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR fadl 7 @ 39 faded &1 9a &3 S SUTT eg, b1 Tg! fAweu 3 |
Options :

1. ® foer™

2. % HUId
3. % gfeqr

4. gHAI

Question Number : 84 Question Id : 103435287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy ¥ IR fowddl 7 @ 39 fawed &1 9g 3 S SUTT e, BT Tg! fAweu 3 |
Options :

1. ® figrg

2. #® pUTA

3. % gfear




4. ¥ GHT

Question Number : 85 Question Id : 103435288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafalRad s 7 IR fdwedl § O 39 fadwed &1 999 I Sl YT Weg &1 gl fddhed g |
Options :

L. v

2. % YD

3. % QUER

4. % RUC

Question Number : 85 Question Id : 103435288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & aR fawedl O T 39 fadwed &1 99+ &< Sl U Wsq &1 ol f[dbed 7l |
Options :

L g

2. % IS

3. % JUGR

4, % RUC

Question Number : 86 Question Id : 103435289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafaa uy & aR fosedl & T 39 [dwed &1 999 &3 ol fAU 1 Wsg T & et 3 &1 fawed §

-
Options :
1. % ¢, I
2. ¥ A, &Y




3. % fdaq , gR
4. % g, HHA

Question Number : 86 Question Id : 103435289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad g & TR fawenl o ¥ 39 fadhey &1 7= H: 5 fou U ¥rsg w1 & Tet 31 o1 fabed 8

qef-ce
Options :
1. # A, dd
2. ¥ G, &Y
3. % fd99, gR
4. % g, HIA

Question Number : 87 Question Id : 103435290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 9 39 fab e o1 g7 o3 S feT U arei & ot Ueh Wsg &1 9e! faheu 8l
ST 18 S gl -

Options :

1. % Hddd
2. % 3fAdal
3. ¥ Aid
4. % 3KIH

Question Number : 87 Question Id : 103435290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad s 7 IR fawedl § ¥ 39 faweu &1 9949 &3 O faT 7T a1iel o ol U eg &1 Tal f[ddbed gl




a1 BIs 31 71 -
Options :

1. # HJdd

2. % 3 Dol

3. ¢ i@

4, % IMRKTH

Question Number : 88 Question Id : 103435291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad uy & TR el § 3 39 fdbeq o1 997 ®3 Sl AT 71U Weg &1 Uel 9ga<H Ted &
>

Options :
1. ¢ T[du
2. ® B0
3. % 35U
4. % B

Question Number : 88 Question Id : 103435291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FroffEd vy & IR el § A 39 ey o1 907 B off foU T Wea &1 Ue) Sgaa Ues &
T>

Options :
1. ¢ [
2. ® BT
3. % Y
4. % T



Question Number : 89 Question Id : 103435292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 7 @ 39 fadey &1 9g7 o3 S feT U a1 & Ne &1 9el fabeu g
ST Qifd 91— G |

Options :

1. % dcgdrdae ared

2. % hdara® aiad

3. % fquqaifadius aren
4. ¥ SFTATID AT

Question Number : 89 Question Id : 103435292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad uy & IR foeel & T 39 ey &1 7= &% St feu U 9190 & We &1 98! fdpeu §
$HUT ifd 1 |

Options :

1. ® Jogara® aiad

2. % hdarg® aid

3. % fqWaifeaiys aI

4. ¢ ARG IR

Question Number : 90 Question Id : 103435293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy # IR el 7 @ 39 fad ey &1 9g7 S S feT 7N 91 & &1d & He &1 Jal fabeu g
YT = S Al i 98 AT R

Options :
1. % ggad a1




2. Ty I
3. % IR 9
4. % fqYTard® arg

Question Number : 90 Question Id : 103435293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR foweal A @ 39 fadeu &1 9g7 &3 S feT TN 91 & &1d & He &1 Jal fabeu g
14T 3 S AUy form 98 AT R

Options :

1. % ggad I

2.« iy are

3. % IR dI

4. % fqyHarIS dIH

Question Number : 91 Question Id : 103435294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy & IR el 7 A 39 fah e &1 97 &3 ot feU 70 9/ & Ul & 1 &1 98! f[abeu g
T gd § fAwadar g |

Options :

1. % guidreide g8
2. % NP U&
3. ¢ Mdaiy®

4. % YATfQeNdd Uef

Question Number : 91 Question Id : 103435294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 @ 39 faweu o1 97 &3 ot foT 7T are & U & N &1 Ug! fabeu g




T qd A Aeaar gl
Options :

1. % guiarede g8
2. % YD U&
3. ¢ MIdEy®

4. % YIfAEd® uef

Question Number : 92 Question Id : 103435295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafed vy & ,aR fasedl 4 9 39 faded &1 98+ R Nt faR1H fag gad 91 &1 Ugl fadhed 37 |
Options :

1. ¢ " Bl fodgpd , IR 3FU¢ Af - 91 YA dd - " Fa¢ DI G0 &M |

2. % Bl fqd®d W 3YG Al - 910 GHY 99 7,996 P! G a7 |

3. % Bl 9%, W 39g Al 910 90 a9 7,990 P! G A |

4. % gl fadPpd , W 3FUg AT - 910 THY A9 7,560 P! T A

Question Number : 92 Question Id : 103435295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered gy & IR fadwedl # O 39 fadhed &1 9 &3 oif faH g o a1l o1 gl fdbed o7 |
Options :

1. ¢ " 3l foa$pd , IR 30¢ AT - 91U YA dd - " Fa¢ DI G0 |

2. % g1 A% d W UG A - 91U U d9 7,99 B! g1 @ |

3. % g1 f9a%d, W 3(9g Al a9 T a9 7,990 P! G a7 |

4. % g f9aPpd , R 3FUg Af - 919 THY a9 7,566 P! § @

Question Number : 93 Question Id : 103435296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafifaduy o AR fasedl § 4 39 fdded ST & Sl fav1 g god a1 &1 Hal fadbed g1
Options :

1. % gAER ¥ O 91d 7 81 ford foet o, smifer &l bt HiaH &1 die ugd

2. JHMER H T 91d 9 81 fored oot e sifa &l &t wig1 &1 9l ugd |

3. % THER J U a1 9 81 fors foeht e Sifa v &t Wi &1 de ugd |

4. % gHER H U 91 9 81 5w fordht o sifa ,av &t yieHT &1 die Ugd |

Question Number : 93 Question Id : 103435296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffRed vy & ,aR fomddl & 9 39 fddwed &1 9= H ol [aRW g gad a1 &1 9el fadbed gl
Options :

1. % JHER ¥ U a1d 9 81 fored fedt 4o, sfa 3w &t Y= &1 dic ugd

2. ¢ THMER T U 91 9 81 fored forsit e Sifay &l &t it &1 e ugd |

3. % JHER § U a1d 9 8 forw foeht enf sifar v &t w1 &1 e uga |

4. % gOER H U 91 7 81 fored foeeht ol sifa ol &t yia1 &1 9l ugd |

Question Number : 94 Question Id : 103435297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad v & TR fawenl # 9 39 fawed &1 7o &L S fou T8 geTark & Tet o1 ara fawed §
i g WM -

Options :

1. ® YHS BT

2. % §gd UgHd Bl

3. ¢ 8ic -8UcC gl

4. % DHTH R= DA

Question Number : 94 Question Id : 103435297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraffaa Uy & TR fowe § T 39 fawen &1 7 &% off U U geTer & gt o aran fawe §
i di WM -

Options :

1. % YHS BT

2. ¥ §gd Hg-d Bl

3. ¢ i¢ -SUcC gl

4, % PHTH LE B

Question Number : 95 Question Id : 103435298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed uy & IR el 7 9 39 fab ey &1 997 &3 o feu U dieifad & It orf arar e g 1
3T T IR 3mufg AT e

Options :

1. % 3O pI S|

2. % Ui foT &) wH-Red

3. % 3O GIY 9 TOPR QORI 1 Q1Y ¢@-T

4. ¢ 0 TR B 91 GIRI § B W F&AH gt B

Question Number : 95 Question Id : 103435298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy & IR el 7 9 39 fad ey &1 9g7 &3 o feu U dieifad & I8t o arar s g 1
3T T IUIRY 3MUfg ANT A

Options :

1. % 3O HI T

2. % S faT Y IH-Mpd

3. % 3UAT GIY 7 AP GIRI BT &Y ¢l




4, ¥ 37 TR P 91 GQIRI I Hg- W F&-H! il g

Sub-Section Number : 2
Sub-Section Id : 10343519
Question Shuffling Allowed : Yes

Question Id : 103435299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

) U 7TQ e Y eaYd e UG SR U Y Ul T qataH SR g 1

9 A $3 Ua1d R0 qid! 991 § 1 WiRed Ht 39 HH0 yardf & 9 e § 1 33 RN g8 Taiarul & o fofdl &1 eRu S geng 1
O ¥ WIRed BT SMASHR g3 & ,d9 I g1 - fokTh v 3R Faumqul &7 7% § 1 TR &1 IRT BrfeR , I, fRIaH |, aare! - 99 W
@IReH BT AT BT 11§ 1 T Ht oR U1 et forarm, fores) 1 fareft afersit o1 uaivT =161 g3 81 1 Ugd BTl 3iR HUS &I [T
T8 - 3TATR T S HRdT AT, 316 §HRT ¢ I WIRed & HRUI HI%h! WS 81 41 § 1 TR 39 &I Ht 3 & 1 BT Ha’l 9gd
GfEhel A Goidl 8 1 UI0: WIRSH & o7 Ger-iRitel 4 g1 & BRU 31 Siel- FdTg! P! b HR UGN UGl Hd § 134 QNI Y 9 & JU”
o1 ST Y Wi es o1 IUANT aReT Aifad 81 Thdi g 1

Sub questions

Question Number : 96 Question Id : 103435300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG &b AR WIRCH &1 AT [ R BTGB 2
Options :

1. % HUS

2. ¥ A A

3. % GH UH & ISl o

4, % gargaf H

Question Number : 97 Question Id : 103435301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gieR 0T & foidl ot a8 9t avlg T 2

Options :




1. % UgUry
2. % gHT

3. % foeh
4. ¥ WIRCH

Question Number : 98 Question Id : 103435302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'SHTTIHR BT FHFIT Teg AT G 2
Options :

1. ¢ AU

2. % MUY

3. # Y

4. % It q

Question Number : 99 Question Id : 103435303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR b1 Teh Ay J 41 & -

Options :

1. % Yo-IRNd gl

2. % UGIaRu] B gid 7 HAT
3.#%%?@?

4. % TS B IR T

Question Number : 100 Question Id : 103435304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ge & fore Ifd 2vs ol |

Options :
1. % WRed & qY
2. % WWIReH Bl olig-




3. % WIRe® Bl I BT YO
4. ¥ WIRSD Dt gl

Question Id : 103435299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

9 fou 7T T @ earyde Ue SR U Y Ul &1 HaH SR g 1

798 A $3 Uard HH @id! I a1 § 1 Wiked U 37 ST Tanril I 9 T § 1 341 HRUT Ig TAiaRul o forg fidl &1 dRU ST ga g I
O ¥ TR o1 SMASHR g3 8 a9 I g - fokht Frex 3R Fraumyul &7 78 § 1 TR &1 IRT BrleR , I, f9aH |, aare! - 99 W
WIRC B ATHT BT 1 ¢ 1 T Y o U1 e frer , fores - fokeft Afcrsit &1 Ui &t 341 81 1 U8 d BT 3R HUS I [eThIwhT
7] - 3{Te We STl HRdl T, 3§ §HARI e Tl WIRe® & HRUT HIh! J¥E 8l T § 1 TRg 39D &y U 3 ¢ [ THHI HoRl g4
GfEhe A Gordl & 1 UI0: WIRSH & o7 Ge-iRitel 4 81 & PHRUT 3 Slcl- aTe! P! b HR UGN UaT HRd § 139 QNI Y 9 & JU- R
foTT ST oY WiRe® &1 SUTNT aRG M HTiad 8l 9ebdl & 1

Sub questions

Question Number : 96 Question Id : 103435300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TEE $ SIUR W HT YA b TR ST AR 2
Options :

1. % BUS

2. ¥ A fEdH

3. % @H U & el #

4. % gaman d

Question Number : 97 Question Id : 103435301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgiaRu1 & i1 &t G2 TSt avig T8 2

Options :

1. % Us-q19



2. % g

3. % fie]
4. ¢ WIRCH

Question Number : 98 Question Id : 103435302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3NfaerR o7 T <1eg F R 2
Options :

1. ¢ AU

2. % MUY

3. ¥ /Y

4, ® T

Question Number : 99 Question Id : 103435303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WReH BT TH A I off g -

Options :

1. % Y-IRNd gl

2. % UGIaRul P gId 7 H=AT

3. ¢ YD AR AT gl

4. % S I IR T

Question Number : 100 Question Id : 103435304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod Ifad e il |
Options :

1. % WIReH & gy

2. % RSP Bl Sita

3. % WD DI T i YuMTedt




4. ¥ TIRSD Dt gl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 103435305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Disciplinel

6
10343516
0

0

No

No

0

20

No

Disciplinel

10343516
1

Online
Mandatory
20

20

20

Yes

1
10343520
Yes

Who gave the first conclusive evidence on the role of bacteria in human diseases?



Options :

1. # Francesco Redi

2. ¥ Robert Koch

3. # Antony Van Leeuwenhoek

4. % Louis Pasteur

Question Number : 101 Question Id : 103435305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore TTa T SitaTugeft & YffeT W ugan Huiiges wamor e
Options :

1. % ThIRIEDI S

2. ¢ A BT

3. % UCH! i gd-ige

4. % T3 URR

Question Number : 102 Question Id : 103435306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which enzyme is used by Chlorophyceae to break down the glycolate ?
Options :

1. # glycolate oxidase

2. % thylakoids

3. ¥ glycolate dehydrogenase

4. % cellulose

Question Number : 102 Question Id : 103435306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FARIBTSE! GRT TAZHIAC Dl HIT B & foIe foh fpvaes o1 Iua foan Sirdn 82

Options :




1. ® TAEHIdC Aaes
2. % YIBADBITS

3.  TARHIIC [SETSS ool
4. % YA

Question Number : 103 Question Id : 103435307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a polysaccharide the individual monosaccharides are linked by

Options :

1. ¥ glycosidic bond
2. # peptide bond

3. # Polysaccharides
4. % Rubisco

Question Number : 103 Question Id : 103435307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TERHT H THd THARDR] IS BB
Options :

1. ¢ TShIRIfeH §Y

2. % UPISS §Y

3. % g

4. % JfeDl

Question Number : 104 Question Id : 103435308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is not an viral antigen?
Options :

1. % hepatitis B surface antigen



2. # influenza virus hemagglutinin proteins
3. % rabies virus G protein

4. ¥ Capsular polysaccharide

Question Number : 104 Question Id : 103435308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifea § 3 & a1 fawy @rRe) ufas 761 82
Options :

1. ® gUCTRicd B Hag Ufcror

2. % FRIUSIIAWIY] gHNEf AT T

3. % o] IR Sff UidH

4. ¢ PHWR TIPS S

Question Number : 105 Question Id : 103435309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a general character of the ferns ?
Options :

1. ® Plant body is a sporophyte.

2. # Roots are adventitious.

3. ¥ Flowers have both androecium and gynoecium

4. ® The rhizome is the stem of the fern plant.

Question Number : 105 Question Id : 103435309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad # ¥ &1 I1 B &1 ITH &0 a1 82

Options :
1. % UIY &I IRR Sol]ag (TRIBIES) ]
2. % T3 TN B g




3. ¢ odll W bR (TS IREH) 3R S ((Rrdtem) S 81 §
4. % Yobe (AZSH), B W19 BT T B

Question Number : 106 Question Id : 103435310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a part of Xylem ?
Options :

1. # Tracheids

2. # Xylem parenchyma

3. % Vessels

4. ¥ companion cells

Question Number : 106 Question Id : 103435310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 S 91 Ssad &7 YN 51 82
Options :

1. % qrigfet (¢foga)

2. % SSAH RhTRAT

3. % dIfgeT

4. ¢ g PIRIBIY

Question Number : 107 Question Id : 103435311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which meristem occurs in the mature regions of roots and shoots and responsible for secondary growth ?
Options :

1. # Intercalary meristem

2. ¥ Lateral meristem

3. # Simple tissue



4. ® Apical meristem

Question Number : 107 Question Id : 103435311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T fHae Ssl 3R cefal (o) & uikus &5 § gidT § 3R fgdiae gfe & e SwRer 82
Options :

1. % 3f=<qd=N favsdiasd

2. ¢ Uiy favsias®

3. % WA SHdDb

4. % 2 fqusaides

Question Number : 108 Question Id : 103435312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an objective of Plant Breeding?
Options :

1. # Development of high productivity crop variety

2. # Disease resistance

3. # Adaptability to wide range of habitats

4. ¥ Not resistant to alkaline and saline soil conditions

Question Number : 108 Question Id : 103435312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed & I o 1 uey UoiH- &1 3= 78! 82

Options :
1. ® 3 IdTedHdl aIdt Bad [ BT [dhTy

2. % I ORIy

3. % qOiay ! fawgd e & o s a-=itadn
4. ¢ &Y 3R wavfia ger Ry & for ufaRieh 78t &




Question Number : 109 Question Id : 103435313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'Metha Jahar' which is useful in rheumatism is obtained from -
Options :

1. # Claviceps

2. % Aconitum napellus

3. # Plantago ovata

4, % Sesamum indicum

Question Number : 109 Question Id : 103435313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tard # IuaRf el ex e 8 U B | -
Options :

1. % Foifaaw

2. ¢ TIHcH AUy

3. % SqEd

4. ® foa Rva 3fsaa)

Question Number : 110 Question Id : 103435314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is responsible for modification in DNA and causes a variation in the phenotype and genotype of a creature ?
Options :

1. ¥ Mutation

2. % Dominance

3. % Segregation

4. % Codominance

Question Number : 110 Question Id : 103435314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

WﬁﬁﬁDNAﬁWW%WW%%WW%WMmGﬁiﬂﬂﬁﬂ'—ﬁ(\ﬂ"w\lcmu)ﬁdqumwlwl
ddl g2

Options :

1. ¢ IaRadd

2. % GYIG (SITHAR)

3. % QUahIT (YUNIM)

4. % TEUYA

Question Number : 111 Question Id : 103435315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technique is based on the principle of blotting for the analysis of specific RNA in a complex mixture?
Options :

1. # DNA Technology

2. ¥ Northern Blot

3. ¥ Western Blot

4. % Gene Therapy

Question Number : 111 Question Id : 103435315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI U T Siied B0 T fafry RNA & fa=eivm 3 foe saifen & Rigid wR simemid g2
Options :

1. % DNA Wrenfiest

2. ¢ e wdIC

3. % Q%A sdle

4. % S fafean

Question Number : 112 Question Id : 103435316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following involves the removal of non-coding sequences and joining of the coding sequences ?
Options :

1. # Transcription

2. # Translation

3. % RNA Splicing

4. ¥ DNA Replication

Question Number : 112 Question Id : 103435316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 forad TR-BIST SIHHI DI 8T 3R DITST SIHH! B Sire-T A g2
Options :

1. % gfcrerad

2. % 3f{{dlq

3. ¢ RNA JeyA ((Rafdm)

4. % DNA Bl d6d

Question Number : 113 Question Id : 103435317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a type of Ecology?
Options :

1. ¥ Animal Ecology

2. # Global Ecology

3. # Population Ecology

4. ¥ Landscape Ecology

Question Number : 113 Question Id : 103435317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeiad 7 @ oF a1 uiRfRUfae! &1 UeR T8l 82
Options :

1. ¢ ug uiiRufcrent

2. % e uifufaes!

3. % SIS uifRUfdet

4. % ISIHY SHIATSH

Question Number : 114 Question Id : 103435318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term taxonomy was coined by -
Options :

1. # Aristotle

2. % A.P. de Candolle

3. # Theophrastus

4. % Carl Linnaeus

Question Number : 114 Question Id : 103435318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfifet Rreq fohgds GRT QT 7T T -
Options :

1. % 3R]

2. ¢ U0 St e

3. % fanthey

4. % o A=Y

Question Number : 115 Question Id : 103435319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the book named 'Historia Plantarum' ?



Options :

1. # Carl Linnaeus
2. # Linnaeus

3. % Aristotle

4. ¥ Theophrastus

Question Number : 115 Question Id : 103435319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem eI wierem 94 o1 g fordt § 2
Options :

1. % BTd =g

2. % g

3. % 3R]

4. ¢ TY3Ihcy

Question Number : 116 Question Id : 103435320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pollination takes place between flowers borne on two different plants of the same species is known as -
Options :

1. * Geitonogamy

2. ¥ Xenogamy

3. # Hybridism

4. % Homogamy

Question Number : 116 Question Id : 103435320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B U & Gl 3IT-31aT UTey UR U g4 B! & e URTTUT §idT &, 39 &gl STdl § -

Options :




1. ® Mg
2.  RfAH
3. % hdlg
4. % G

Question Number : 117 Question Id : 103435321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cleistogamy is not found in which of the following flower ?
Options :

1. # Commelina benghalensis

2. # Drosera

3. % Ixora

4. % Oxalis

Question Number : 117 Question Id : 103435321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § @ iy wa § feereid =2l uran omar 82
Options :

1. % B33 (PRI ST

2. % SIRT

3. ¥ SRR

4. % SoTierd

Question Number : 118 Question Id : 103435322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of plant helps in synthesisation of plant growth and regulates reserve food material?
Options :

1. # Stem



2. * Leaves
3. % Roots

4. % Flower

Question Number : 118 Question Id : 103435322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTGY &1 B AT YFT UTGY Jig & ANl H Hag xdl § SR Tad @1 9 &1 fafd dxar g2
Options :

1. % ddl

2. % gl

3./ W8

4. % Thql

Question Number : 119 Question Id : 103435323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is incorrect about Photosynthesis process ?
Options :

1. # Energy stored in sugar molecules

2. % Carbon dioxide and water used

3. % Carbon dioxide and water released

4. % Produces oxygen

Question Number : 119 Question Id : 103435323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 Y- THTRI-GRayr Uihar & IR § Ted 82
Options :

1. % BT SULaf & Fufed SHolt

2. % PHIa SATRIZS 3R UM BT SUINT fHam T




3. ¢ HIa SRS S 3R U SR} fwar T
4. % RIS ST AT &

Question Number : 120 Question Id : 103435324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was able to produce the callus culture from the cut piece of stem of Nicotiana tabacum ?
Options :

1. % C. O. Miller

2. ¥ Folke Karl Skoog

3. # F. C. Steward

4. % S. M. Caplin

Question Number : 120 Question Id : 103435324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 103435325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is incorrect about Callus Culture ?

Options :

1. # Callus tissue is good source of genetic or karyotype variability.

2. % The whole plant can be regenerated in large number from callus tissue.
3. ¥ Biochemical assays cannot be performed from callus culture.

4. % Callus culture is very useful to obtain commercially important secondary metabolites.

Question Number : 121 Question Id : 103435325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HAY Hdd ARG TN HEHIREY URIIRITAd] BT BT HId 5 |

2. % B SHaPb I R U B FS1 WA H GAuiad fordm o Gl g |

3. ¥ HAY Bk Y old A IRG el DI ol Javel |

4. % AU ¥ I HgdU! fgd e Ia1ad] &I U HR- & oIl Herd ook agd SUani g

Question Number : 122 Question Id : 103435326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a part of mass spectrometry ?
Options :

1. ® Jonizer

2. ¥ deceleration

3. # Deflector

4. ® Detector

Question Number : 122 Question Id : 103435326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® STAIISR

2. ¢ 3fara (FETeRTA)

3. % fagusd

4. % Hyd®d

Question Number : 123 Question Id : 103435327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the protection of emasculated flower from contamination by undesirable pollen grains.

Options :



1. * Emasculation
2. % Intervarietal Hybridization
3. ¥ Bagging

4. % Intra-varietal Hybridization

Question Number : 123 Question Id : 103435327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * A0 (3HpaH)
2. % $ANTCH BI3ITSTguIRM
3.« Sftf

4. % ZTT-RGed RITSEOTA

Question Number : 124 Question Id : 103435328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of structure and function of entire genome of an organism is referred as -
Options :

1. ¥ Gene finding

2. % Genomics

3. ¥ Proteomics

4. #¥ Sequencing

Question Number : 124 Question Id : 103435328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % Yifeenfiey
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Question Number : 125 Question Id : 103435329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the 'Father of Biostatistics' ?
Options :

1. ¥ Francis Galton

2. % Walter Weldon

3. % William James

4. % Ben Hesper

Question Number : 125 Question Id : 103435329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford SlaqiReges! & S’ & TG H ST STl § 2
Options :

1. ¢ IR e

2. % qleck desA

3. % faferam oiwg

4. % §EER

Question Number : 126 Question Id : 103435330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not an example of Inferential statistics ?
Options :

1. # Index numbers

2. # Statistical quality control



3. # vital statistics
4. % Correlation

Question Number : 126 Question Id : 103435330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. ¢ ey

Question Number : 127 Question Id : 103435331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which microbe is not used for the industrial production of organic acids ?
Options :

1. % Vibrio cholerae

2. % Aspergillus Niger

3. ® Acetobacter acute

4. ¥ Lactobacillus

Question Number : 127 Question Id : 103435331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 103435332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the medium used for casein hydrolysis.
Options :

1. ¥ Peptone water

2. % Skim milk agar

3. # Nutrient agar

4. ® Egg saline medium

Question Number : 128 Question Id : 103435332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QgH UMl

2. ¢ &pH fiesh 3R

3. % UiV 3R

4. % 3T AaURged H1egH (W ¥ars difegw)

Question Number : 129 Question Id : 103435333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an objective of natural resource management ?
Options :

1. # To provide resources for future generations.

2. # To maintain ecological diversity.

3. # Increase agricultural practices.

4. ¥ To maintain employment facilities for people.



Question Number : 129 Question Id : 103435333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 130 Question Id : 103435334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a document for recording the list of the endangered and rare species of animals, plants, fungi as well as some local
species also ?

Options :

1. # Blue Data Book
2. ¥ Red Data Book
3. # Black Data Book
4. % Green Data Book

Question Number : 130 Question Id : 103435334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 103435335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which scientist- "Plant breeding is the art and the science of improving the heredity of crop plants for the benefit of human kind" ?
Options :

1. # Frankel

2. % N.W. Simmonds

3. ¥ J.M. Pochlman

4. ® Riley

Question Number : 131 Question Id : 103435335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % bl

2. % U5y, Rmgw

3. ¥ S.UH. UigaHd

4. % {3

Question Number : 132 Question Id : 103435336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not an advantage of Biofertilizers ?
Options :

1. # Biofertilizers act as supplements to chemical fertilisers.

2. % They control and inhibit pathogenic soil bacteria.

3. ¥ Crop yield demit by 10-20 percent by their use.

4. % Eco-friendly in nature and pollution free.



Question Number : 132 Question Id : 103435336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 103435337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which biofertilizer is capable of solubilising or mobilising the fixed insoluble phosphates of the soil ?
Options :

1. # Biological nitrogen fixing biofertilizers

2. ¥ Phosphate solubilising biofertilizers

3. # Sulphate biofertilizer

4. ® Sulphate fixing biofertilizer

Question Number : 133 Question Id : 103435337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 103435338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The term 'ethno botany' was coined by -
Options :

1. # Moldenke

2. # Hartweh

3. ¥ J.W. Harshberger

4. # Schultes

Question Number : 134 Question Id : 103435338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hicgd

2. % BILdE

3. ¢ 3 Y, gk

4. % e

Question Number : 135 Question Id : 103435339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined 'ethno botany' as the study of the relationships between the people of a primitive society and plants ?
Options :

1. % Alcom

2. ¥ Schultes

3. % Hartweh

4. ¥ Moldenke

Question Number : 135 Question Id : 103435339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3[ABH

2. ¢ oA

3. % gICdg

4. % Alce®d

Question Number : 136 Question Id : 103435340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Orange-red edible dye is extracted from -
Options :

1. # alstroemeria

2. # phalaenopsis

3. % dianthus

4. « Bixa orellana

Question Number : 136 Question Id : 103435340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

], % SRl

2. % TSIy

3. % SIOAYY

4, oo SR

Question Number : 137 Question Id : 103435341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is not a characteristic of Intellectual Property Rights Laws ?



Options :

1. # Intangible Property

2. % Creation of Statute

3. ¥ Tangible Property

4. # Bundle of Legal Rights

Question Number : 137 Question Id : 103435341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 103435342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which plants are considered as a rich resources of ingredients which can be used in drug development either pharmacopoeial, non-
pharmacopoeial or synthetic drugs ?

Options :

1. # Spruce

2. # Fern

3. % Herbaceous Plants
4. ¥ Medicinal Plants

Question Number : 138 Question Id : 103435342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 103435343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of vitamin is not present in Mushrooms?
Options :

1. ¥ Vitamin A

2. % Vitamin B

3. # Vitamin C

4. # Vitamin D

Question Number : 139 Question Id : 103435343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fqeridm A

2. % faerfi B

3. % fqeide C

4. % faefi - D

Question Number : 140 Question Id : 103435344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a technique used to disinfect seed beds.

Options :



1. # Stratification
2. # Scarification
3. * Salinization

4. « Solarisation

Question Number : 140 Question Id : 103435344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TH APH-1 & orhT SUINT IS o8 P HICURIRd HR & g fordm ST g |
Options :
1. % TRIHRT (L)
2. % WHRGHIA
3. % QAUH
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Question Number : 141 Question Id : 103435345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a garden adornment.

Options :

1. ¥ Bird bath

2. % Pergola

3. * Flower bed

4. * Carpet bed

Question Number : 141 Question Id : 103435345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % TR &8
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Question Number : 142 Question Id : 103435346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 103435346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which field of biogeography focused on the protection and restoration of species based upon the known historical and current ecological
information?

Options :

1. # Ecological biogeography
2. % Historical biogeography

3. ¢ Conservation biogeography
4. % Paleobiogeography

Question Number : 143 Question Id : 103435347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which biodiversity refers to the variations in the plant and animal species living together and connected by food chains and food webs ?
Options :

1. # Biological biodiversity

2. ¥ Ecological biodiversity

3. % Species biodiversity

4. # Genetic biodiversity

Question Number : 143 Question Id : 103435347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 103435348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All plants produced via tissue culture from the same parent plant are not identical to each other because of the phenomenon of
Options :

1. % cybridisation

2. % colonal propogation

3. ¥ somoclonal variation

4, % somatisation

Question Number : 144 Question Id : 103435348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 103435349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can be defined as the marriage of environmental issues with the advances in biotechnology.




Options :

1. # Bioremediation

2. ¥ Environmental biotechnology
3. # Environmental biology

4. % Environmental science

Question Number : 145 Question Id : 103435349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 146 Question Id : 103435350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microbes can convert toxic chemicals to harmless chemicals by the process of

Options :

1. % Biomagnification

2. # Microbial decomposition
3. # Oxidative reduction

4. ¥ Bioremediation

Question Number : 146 Question Id : 103435350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 103435351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is responsible for extrastelar secondary growth of dicot stems.

Options :

1. # Parenchyma

2. # Intercalary meristem
3. % Apical meristem

4. ¥ Phellogen

Question Number : 147 Question Id : 103435351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 103435352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

discovered the phenomenon of double fertilization in certain plants.
Options :
1. #® J.G. Kolreuter



2. % Nawaschin
3. #* Hofmeister

4. ¥ Theophrastus

Question Number : 148 Question Id : 103435352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2.« FaIRH
3. % GIHHRR
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Question Number : 149 Question Id : 103435353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the study of a population or community in relation to their environment.

Options :

1. # Autecology
2. ¥ Synecology
3. * Palaeoecology

4. ¥ Cytoecology

Question Number : 149 Question Id : 103435353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % TrEeidIarst

Question Number : 150 Question Id : 103435354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process of absorption of water by colloidal substances.
Options :
1. # Gravitational potential
2. % Matric potential
3. % Diffusion
4. ¥ Imbibition

Question Number : 150 Question Id : 103435354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 151 Question Id : 103435355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which instrument is used for measuring the transpiration rate ?
Options :

1. # Calorimeter

2. ¥ Potometer

3. % Hydrometer



4. ¥ Hygrometer

Question Number : 151 Question Id : 103435355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 152 Question Id : 103435356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 152 Question Id : 103435356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of negative phototaxis ?
Options :

1. # Cockroaches

2. % Maggots

3. % Wood lice

4. ¥ Cockroaches, Maggots & Wood lice, all are correct



Question Number : 153 Question Id : 103435357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a response that involves changes in the speed of movement of the whole body in response to stimuli like humidity, preserve
and diffused light.

Options :

1. % Klinokinesis
2. % Reflexes
3. ¥ Orthokinesis

4. % Instinct

Question Number : 153 Question Id : 103435357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfaferar 8 foras T, TRférg ok fauRa uerer oRft Saerrstt ot ufdferar & ¥ IRR &t fRaara &t wfa & ufad= a8 |

Options :
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Question Number : 154 Question Id : 103435358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the region of the brain responsible for maintenance of homeostasis and regulation of the endocrine system.

Options :

1. # Hippocampus
2. ¥ Hypothalamus
3. ¥ Thalamus

4. # Cerebral Hemisphere



Question Number : 154 Question Id : 103435358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 155 Question Id : 103435359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cranial cavity is divided into compartments by
Options :

1. # Pia mater

2. % Meningeal sinuses

3. #® Arachnoid mater

4. ¥ Meningeal septa

Question Number : 155 Question Id : 103435359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 103435360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
One can discover and define binding sites for transcription factors using the method of

Options :

1. # Microarray

2. ¥ DNAse I footprinting
3. ¥ Western blotting

4. # Northern blotting

Question Number : 156 Question Id : 103435360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfard @1 fafd BT IUANT B UfIeRe BRI & (T S8 VI BT Wiol 3R TRUTT R ThlT 6|
Options :

1. % HIEHIT
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4. % & AT

Question Number : 157 Question Id : 103435361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chorionic gonadotrophin produced by biotechnology can be used to:
Options :

1. % Halt the progress of rickets.

2. % Treat infertility in women.

3. % Dissolve blood clots in stroke patients.

4. % Enhance immunity in infants.

Question Number : 157 Question Id : 103435361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 158 Question Id : 103435362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hiercraroil

2. % fudifereT fagm

3. % PHicidyH
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Question Number : 158 Question Id : 103435362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the practise of eating insects like tarantulas and centipedes.

Options :

1. #® Melittology
2. % Myrmecology
3. ¥ Entomology
4. ¥ Entomophagy

Question Number : 159 Question Id : 103435363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Insects have a heart and the circulatory system is




Options :

1. #* Dorsal, closed
2. % Ventral, closed
3. ¥ Dorsal, open

4. ® Ventral, open

Question Number : 159 Question Id : 103435363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 103435364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
transports the urine from the bladder to outside the body in men.
Options :
1. # Ejaculatory duct
2. % Ureter
3. ¢ Urethral meatus
4. % Epididymis

Question Number : 160 Question Id : 103435364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 103435365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is not a part of human female external genitalia.
Options :
1. # Mons pubis
2. % Labia minora
3. ¥ Antrum
4. ¥ Hymen

Question Number : 161 Question Id : 103435365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % O/ gfey
2. % et IR
3. ¥ UgH
4. % YifAwsg

Question Number : 162 Question Id : 103435366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A facility dedicated to the storage of cells and tissues of endangered organisms is called a
Options :

1. % Gene library

2. ¥ Gene bank

3. % Genomic DNA libraries

4. ¥ Gene pool

Question Number : 162 Question Id : 103435366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 103435367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process in which macromolecules are released out of cells.
Options :
1. # Mesocytosis
2. # Phagocytosis
3. ¥ Exocytosis
4. % Endocytosis

Question Number : 163 Question Id : 103435367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 103435368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The biological resource "Flybase" is a




Options :

1. # biodiversity database

2. % model organism database
3. % biomolecular database

4. * literature database

Question Number : 164 Question Id : 103435368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 103435369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If an organism simply cannot live without a host organism, it is termed a/an parasite.
Options :

1. # Faculative
2. ¥ Obligatory
3. % Occasional
4. ¥ Anberrant

Question Number : 165 Question Id : 103435369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 103435370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used to detect and identify intestinal protozoans in stool samples.

Options :

1. ¥ Wheatley Trichrome staining
2. # Endoscopy

3. ¥ Hematocrit method

4. % Knott's test

Question Number : 166 Question Id : 103435370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 103435371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Virus-infected cells secrete proteins called -
Options :

1. # Antibodies



2. % Interferons
3. # Interleukins

4. ¥ Complement proteins

Question Number : 167 Question Id : 103435371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. # gfafts

2. ¢ SEIWBRIA

3. % Facgfod

4. % RSP (SN UIcH

Question Number : 168 Question Id : 103435372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Viral proteins produced inside infected cells in a human body are presented as

Options :

1. % Autoantigens

2. % Native Antigens

3. % Exogenous antigens

4. ¥ Endogenous antigens

Question Number : 168 Question Id : 103435372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 103435373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is secreted to maintain a balance of glucose and/or salt in the blood.

Options :

1. # Gastrin

2. % Somatostatin

3. # Vasoactive intestinal peptide

4. # Glucagon

Question Number : 169 Question Id : 103435373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 103435374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which hormone stimulates the adrenal glands to produce hormones?
Options :

1. ® Anti-Miillerian Hormone

2. # Dehydroepiandrosterone

3. ¥ Adrenocorticotropin hormone



4. # Luteinizing hormone

Question Number : 170 Question Id : 103435374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 103435375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fish is not larvivorous fish ?
Options :

1. # Trichogaster

2. % Gambusia

3. ® Haplochitus

4. ¥ Pterophyllum

Question Number : 171 Question Id : 103435375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 103435376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abdominal dropsy of Carps is caused by

Options :

1. ¥ Aeromonas hydrophila
2. ® Edwardsiella ictaluri
3. # Trypanosoma

4. ® Myxobolus

Question Number : 172 Question Id : 103435376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 103435377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an assumption of Cohen's kappa coefficient ?
Options :

1. # the units are independent

2. ¥ the categories on the nominal scale are not mutually exclusive

3. # the categories on the nominal scale are independent

4. ® the readers/raters are independent

Question Number : 173 Question Id : 103435377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 103435378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used to compare whether differences in three or more samples are statistically significant.

Options :

1. # Paired t-tests
2. ® Z-tests

3. % ANOVA test

4. ¥ Unpaired t-tests

Question Number : 174 Question Id : 103435378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 103435379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is a controlled experiment?

Options :

1. # An experiment where the scientist controls how many readings will be taken.

2. # An experiment where at least two types of variables are measured.

3. ¥ An experiment where there are at least two groups which differ in the condition being tested.

4. % An experiment where the lower and upper limits for a factor are decided before the experiment is started.

Question Number : 175 Question Id : 103435379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 103435380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
technique is generally followed when the population is finite.
Options :
1. #® Purposive Sampling
2. % Area Sampling
3. ¥ Systematic Sampling
4. ® Neither Purposive Sampling, neither Area Sampling nor Systematic Sampling

Question Number : 176 Question Id : 103435380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 103435381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is infertile female developed from fertilized eggs.

Options :

1. ® Queen bee
2. ¥ Worker bee
3. ® Drone

4. ® Female bee

Question Number : 177 Question Id : 103435381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 103435382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Honeybees mix beeswax and resins to produce
Options :



1. # Royal Jelly
2. % Honey
3. % Propolis

4. % Venom

Question Number : 178 Question Id : 103435382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 103435383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pebrine disease of silkworms is caused by a
Options :

1. # Bacteria

2. ¥ Protozoa

3. * Fungus

4. % Virus

Question Number : 179 Question Id : 103435383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 103435384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Muga silk is produced by the larva of
Options :

1. # Anthereapaphia

2. # Attacus Ricinii

3. % Antheraea assamensis

4. # Attacus alts

Question Number : 180 Question Id : 103435384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 103435385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a physiological character of Gold fish (a common aquarium fish)?
Options :

1. * Thermotolerance

2. * Lack of teeth

3. * Tolerance to acids.

4. ¥ Absence of stomach.

Question Number : 181 Question Id : 103435385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 103435386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In aquaculture, nitrogenous fertilizer is supplied by:
Options :

1. ¥ Fish culture

2. * Organic compost

3. % Ammonium nitrate

4. % Potassium nitrate

Question Number : 182 Question Id : 103435386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 103435387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A small amount of the amniotic fluid can be collected using



Options :

1. #® Ultrasonography

2. ¥ Amniocentesis

3. # Fetoscopy

4. ® Chorion villous biopsy

Question Number : 183 Question Id : 103435387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 103435388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A genetic counsellor does NOT

Options :

1. # Provide information about the nature of inheritance of a particular trait

2. # Suggest options to clients based on their family history or personal genotypes

3. % Conduct tests for presence of a particular allele in one or both individuals in a couple

4. % Calculate and explain the probability of a child being affected by a inherited medical condition.

Question Number : 184 Question Id : 103435388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 103435389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s a management tool designed to provide information on environmental performance to the right people at the right time.

Options :

1. # Environmental assessment
2. ¥ Environmental auditing

3. # Environmental accounting

4. % Environmental management

Question Number : 185 Question Id : 103435389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 103435390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WBC can move out of capillaries into tissues via the process of
Options :

1. ® Pinocytosis



2. % Chemotaxis
3. % Opsonization
4. ¥ Diapedesis

Question Number : 186 Question Id : 103435390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WBC 1 UfchaT & AT ¥ BRSBTS I Had! | off bl 5|
Options :

1. % OIS

2. % Pidiciaay

3. % SHMTSORM

4. ¢ T&uTUSiyy

Question Number : 187 Question Id : 103435391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has a continuous connection with nuclear membrane.

Options :

1. % Golgi apparatus

2. % Lysosome

3. ¥ Rough endoplasmic reticulum
4. ¥ Cytoskeleton

Question Number : 187 Question Id : 103435391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Teslibry
2. % AYUNH




3. ¥ TR SfTEa Sfer
4. % HIRABIUSR

Question Number : 188 Question Id : 103435392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a sense organ of Aurelia.

Options :

1. # Tester

2. ¥ Tentaculocytes

3. % Nematocyst

4. ¥ Tentilla

Question Number : 188 Question Id : 103435392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRferan &1 T S ST 3|

Options :

1. % TRigD

2. ¥ WRIGYS (Cermardied)

3. % fUciRRe

4. % Sfear

Question Number : 189 Question Id : 103435393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a disorder of the gastrointestinal system.

Options :
1. # Pneumonia
2. ¥ Dysentery

3. # Tuberculosis



4. % Influenza

Question Number : 189 Question Id : 103435393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STGR1A 0 BT Uh PR 5

Options :

1. ® g

2. ¢ Ofe

3. ® g&HT

4, % SUIUISI

Question Number : 190 Question Id : 103435394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Epidemic dropsy is caused by

Options :

1. # Excess consumption of cholesterol and saturated fats.
2. ® Exposure to ionizing radiation.

3. % Consumption of adulterated edible oil.

4. ® Deficiency of fluoride in the diet.

Question Number : 190 Question Id : 103435394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIFUfe s SR P PRU ST
Options :

1. % DIOCIA 3R Al a1 BT YD |
2. % 3T fafchrur & Hges | 37

3. ¢ TOcTact @rel dd &1 Yo |

4. % YioH H WIRTSS & HHI|




Question Number : 191 Question Id : 103435395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In fleas, hypo-pharynx, mandible and maxillae are modified to form -
Options :

1. ¥ Piercinig organs

2. # Tubular proboscis

3. ¥ Chewing apparatus

4. # Grinding plates

Question Number : 191 Question Id : 103435395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreg #, sreliwr, srelied ofR Afdyar &) fg s & forg T=nfira faran Sirar g -
Options :

1. ¢ QY 3T (FUTHIT 3{ivi=)

2. % AfABIHR YSHI

3. % U7 IUBII

4. % GG Bl wic

Question Number : 192 Question Id : 103435396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used as an insecticide.

Options :

1. # Warfarin

2. % Pythrethrum

3. % Arsenic

4. ¥ Organophosphate

Question Number : 192 Question Id : 103435396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT YN HIe-IRIG P U H [Ha1 gl
Options :
1. % gRBRA
2. % ryH
3. % IS
4. ¢ MAHIERE

Question Number : 193 Question Id : 103435397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cell line was used for the production of polio vaccine.

Options :

1. % Dog kidney

2. ¥ Primate kidney
3. % Mouse fibroblast
4. ¥ Human Stem Cell

Question Number : 193 Question Id : 103435397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aiferal $ob & It & fore DIRIBT XMTY BT IUTIT foba 71T T
Options :

1. ® P P Jab

2. ¥ UIgHT g

3. % I3 BIESIRT

4. % M9 o DIRBT (GHA LT Idl)

Question Number : 194 Question Id : 103435398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
cell lines appear to be immortal.

Options :

1. * Primary

2. % Continuous

3. % Adherent

4. % Suspension

Question Number : 194 Question Id : 103435398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRIDT @MY IR Uit Bietl & |
Options :
1. % O
2. ¢ fR®R
3. % 3SfR<
4. % {4

Question Number : 195 Question Id : 103435399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Certain insoluble carbohydrates should be present in our diet to:
Options :

1. # maintain balance in the clotting system

2. ® promote adequate synthesis of glycoprotein enzymes

3. # reduce glycemic index of proteins

4. ¥ add bulk to and soften stool.

Question Number : 195 Question Id : 103435399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T YUmell § S ST IQT

2. % TAZHIUICH Ufdhual o Jaie Tyl &l STl &
3. % GIcH o TARAHD so I HH HRAT

4. ¢ AT H AP SNS 3R HA BT TH B |

Question Number : 196 Question Id : 103435400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The macro nutrients are carbohydrates, fats and -
Options :

1. ¥ proteins

2. % vitamins

3. ® minerals

4. ® sugars

Question Number : 196 Question Id : 103435400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hh! UV dd BragRge, I 3R 6 -
Options :

1. ¢ I

2. % fqeriee

3. % G yard

4. % AR

Question Number : 197 Question Id : 103435401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
include floating plants, rooted plants, algae, and invertebrates inhabiting standing freshwater bodies.

Options :



1. # Lotic Ecosystems
2. ¥ Lentic Ecosystems
3. % Coastal Ecosystem

4. # Freshwater Ecosystem

Question Number : 197 Question Id : 103435401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oflfdh ShIEH
2. ¢ dfed SDIRRCH
3. % T UTiRa

4. % HIST S UTiRdA

Question Number : 198 Question Id : 103435402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The continental slope levels off between 4,000 and 6,000 m below sea level. This zone is called the
Options :

1. % Hadopelagic Zone

2. % Bathypelagic Zone

3. ¥ Abyssopelagic Zone

4. % Epipelagic Zone

Question Number : 198 Question Id : 103435402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® gSlUdfTD o




2. % Sffafoie S
R ACRICRISEASIE|
4. % TR 9

Question Number : 199 Question Id : 103435403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sits at the transition zone between the brain and the spinal cord.
Options :

1. # Cerebellum

2. # Pons

3. % Midbrain

4. ¥ Medulla oblongata

Question Number : 199 Question Id : 103435403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Jfdam

2. % O

3. % HEARISD

4.« TGl HTeIC]

Question Number : 200 Question Id : 103435404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Alzheimer disease in humans is linked with the deficiency of

Options :
1. # dopamine

2. % glutamic acid



3. ¥ Gamma Amino Butyric Acid
4. ¥ acetylcholine

Question Number : 200 Question Id : 103435404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SO

2. % TCTH 3T

3. ® TH-THTEHI SCRS 3

4. ¢ TRICABITa



